
Ch 
ISinalio Date 

WORKSHELT 

Round of do he nearest 107 
453- CDd 

7326 7330 

i 4712- 24710 

RoundfP te the narest hundred 

847-80 
i4912- 500m 

i6253-62300 

3Raund_olP to he nearest thousand 

4507 5000 

i8207- 18000 

6716* 26000 



Date 

4Sha he Prtadc & vernly by achal Coalcunhon 

a38 7 

- 38 
7 
266 

h 38-40 
10 

O0 

t40 
400 

b 45t67 

b45 50 50 
t67 
315 

R10 
3015 

67 70 x 70 
00 

35 0 
35 00 

C 226 18 

-22225 b 225- 2 230 
8: 10 18 AlO 

18 00 000 

1230 
2300 



() 

d873 
S0 h 18 50 

13 10 
18 
13 00 

336 
350 

950 
3500 

C L03 x 45 

600b b02-6b00 

4S 50 
a 6002 

15 
0 00 30I0 

300 
30 00 

124 

5 Chaose he bezt ehmale ftom the Possible answerS 
al352(120, 1S6, 190) 

150 

b7/31: 30, 250,299) 

o2698-1000, 1200, OD) 
O0 

2 88 (150 NO, 200) 
180 



( efe 

6shae he Sums by rtoudng ol'f to the neartest thousont 

i7781 S6 713/ 

9176 4256 13000 

i5463x 748 38/0000 

7 EShmale each ol he lollowng using qenenal ruye 

a130+ 942 = 1 726 

b76-314: 455 

c3044 t2898- 149S2 

d3842 3/46- 670%

BGie a rough estimate rtoundn�_off hnearest huadrads) oe 
aso a clser eatimaBe (by roudn_ d? b neorrest tens) 

a439 t334 t u317 

en- 440o -hendced-. H00 
-330 300 
4390 300 

330 300 
4320 
4990 

00 
S000 



Date 
Paga. 

b73-4594 
heundred2 108/00 

O10 
O700 

-47b00 
61100 

hundrted-> 900 
833o 

13 
8330 

8300 
- 50D 

1800 
7840 

499348 -483%5 

Hen->48135So 
48370 

hundcted- 484300 

8400 

8725- 

48360 
- 4837D 

13 
48430D 

- 4840D 

09 So 



(:) pale 
Poge 

eshimate he followig Prtodues USng qenralrule 

a57S 161 
3058 

5293y 
183597 

CQ1 692 
764212 

Ja Find he Janpest nmberz forz med by he diat 1,3.O9 rod 

T e He_neartt hausand 

Jamgest nATberz- RO 
neorcest ihousod-> g000 

nherte aze _about 3I0 Rassenqers in each Carr d he chy 
Hroin. As dherte ore g carts for each Yrrain metre are 
8 8 Cars_about 2u0O PassengerS o each tzain 

240 br2u00 c 2004 

12The ircsB bus hnd 96 Passenqet_andhe seconH_bus 
haol I7-facsergerherte ae ahout 2OD: Passengers inte 

b 50 N200 



rom the anThdnI ol' he Plones ate do nanng herte oe avd 52 Planes 

ot mone han 15 min About 230 Plones to 
lh in 15 mh ol he scheduled me 

a 45 0 b 130 o1 330 

HTe distanoe heBuren Buo bus tercmino is 390 kn 
tokes he buss 4hr to qo rom one te 
to_another 1he sfeed he husiS_obo n 
Perr hr 

O b 10 c38 

15 a 0 Chty Hhee are 5440 elecrric ars and_ 
gas carS: Theme_ame_ahout ED0_moT qus_ca 

OJ5000 b50000 

J6 is alhe no which can be mound P lo 2 

5,26,21,28,29 3031,32,33,4 

7 s_allthe_no uhith_Can be_round_olY to 60 
5,46, 47 u8,09.505L52,53,54 



18Wde he smadest ond the larrqest no which arre rcound ofP 
o 90 

Smalkst 8 
lartqes- 94 

19 he Smallest and he lorqed no uhich orte rtcund 
ol to 130 

Smalles-15 
larqet 134 
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